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QUESTION 1

You are designing an IP fabric underlay using IBGP with the spines serving as route reflectors. In this scenario, which
BGP capability must be supported on the spines? 

A. add-path 

B. route-monitoring 

C. rib-sharding 

D. route-refresh-priority 

Correct Answer: A 

 

QUESTION 2

You are asked to design an IP fabric that uses the same routing protocol in both the underlay and overlay networks. 

Which routing protocol will satisfy this requirement? 

A. MPLS 

B. BGP 

C. IS-IS 

D. OSPF 

Correct Answer: B 

 

QUESTION 3

You have a highly latency-sensitive application that is mission critical to your company\\'s operation. In this scenario,
what will enable you to identify issues within three second accuracy? 

A. JTI 

B. RMON1 

C. LDAP 

D. RMON2 

Correct Answer: A 

 

QUESTION 4

Which two characteristics describe a one-arm firewall deployment? (Choose two.) 
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A. The number of interfaces required for the infrastructure increases. 

B. The flexibility of selective services on the firewall is reduced. 

C. All traffic passes through the firewall before passing through the core and aggregation tiers. 

D. Select traffic is directed to or bypasses the firewall. 

Correct Answer: BD 

 

QUESTION 5

You want to reduce the over-subscription ratio of an IP fabric between the leaf nodes and spine nodes. Which two
actions will accomplish this goal? (Choose two.) 

A. Add spine nodes to the fabric. 

B. Increase bandwidth between the spine and leaf. 

C. Add leaf nodes to the fabric. 

D. Add aggregate links to the servers. 

Correct Answer: AB 
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